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(3x 4+ 3)(3z — 3)

(3z — 3)2

(5 — 4)?

(z+1)?

(2z + 6)?

(32 +2)(32 — 2)

(2z + 3)?

(22 — 5)2

(3z —1)?

(6z —4)2

(3z + 5)2 (4z+3)(4x—3) | Bz +6)(3x—6) | 5z +4)(5x—4) | (2v+4)(2v —4)

Bz +1)Bz—-1) | (62 —2)2 (62 +5)2 (3z +1)2 (2z — 3)?

(5x + 2)* (5x — 5)? (z +4)? (6x 4+ 1)(6x —1) | (62 +2)(6x —2)
(3z +3)2 (x —5)2 5z +3)(5z —3) | (22 —2)? (3z +2)(3z — 2)
6z +2)(6z —2) | (22 —4)? (4o +4)(4x —4) | (x+ 4)? (2z + 3)?

(4z + 6)* (52 +6)(5z—6) | Br+1)Bz—1) | 4z +2)(4x—2) | (32 —4)?

(3z — 2)? (4z + 3)* (62 — 5)2 (3z +6)2 (4 — 4)?

(6z — 3)2 (22 — 6)? (4x + 2)? (62 + 2)? (22 + 1)?

(62 — 6)? (22 — 3)2 (3z — 6)? (62 — 5)2 (3z — 1)?

(2z + 2)? 6z +4)(6x —4) | (z+1)(z—1) (4z + 1)? (2z +5)(2z — 5)
(4z +2)(4x —2) | (5x —2)? (62 +5)(6z —5) | (6z+1)? (22 + 1)?

(22 — 4)2 (z+1)2 (3z+6)(3z—6) | (x+5)* (22 +2)(2z — 2)
(4z + 3)? (Bz+3)3z—-3) | (z+4)(z—4) (3x + 4)? (22 — 6)?

2z +4)(2x —4) | (2z+1)? (r —6)2 (5 — 5)? (3x — 3)?

22 +3)22—3) | (6z+2)(6z—2) | (6z+3)(6z—3) | (5x+4)(5z—4) | (dz+5)?

(6z +5)(6z —5) | (6z —2)? (2z — 3)? (5z+3)(bx —3) | (z+4)(x—4)
(2x + 3)? (4z 4+ 4)(4z —4) | (z+2)? (47 + 6)? (22 — 2)?

(4o — 4)? (62 — 3)2 (4 +6)(4x — 6) | (x —4)? (22 + 5)?
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(z +2)(x —2) (62 + 1) (4x + 4)? (v —6)2 (3z +3)(3z — 3)
(62 +6)(6x —6) | (62 —2)2 (3z —6)? (52 — 5)? (2z 4+ 2)(2x — 2)
5z +5)5x—5) | Bx+4)Bzx—4) | Bz +5)Bz—-5) | (5x+1)? (62 — 3)2
(22 + 3)2 (22 +5)2 (42 + 2)? (6z —1)2 (5x — 4)?
(z+4)(x —4) (5z — 3)? (62 — 5)> (z+1)2 (22 —1)2
(22 — 4)? (62 — 4)2 (22 — 6)? Bz +2)3x—2) | (22 —5)?
bz +1)(5z—1) | (xz—3)? (5z + 6)? (z +4)* (4o + 1)?
3z +5)(3xz —5) | (62 +4)? (3z — 3)? (62 — 6)2 (6 — 2)?
(2z + 6)? (62 + 2)? (z + 3)2 (3 — 4)? (52 4 4)(5z — 4)
(62 + 1)2 (3z — 6)? (5 — 4)? (2z +2)2 (2z + 3)?
6z +3)(6z —3) | (v —4)* (22 +6)2 (z +2)(z - 2) 2z +1)(2z — 1)
(4z +4)(4z —4) | (20— 3)? (z 4 5)(z — 5) (z +6)(z — 6) (3z +1)(3z — 1)
Bz +4)(3z —4) | (xz—3)? (6x + 2)? 2z +2)2z—-2) | (z+6)?
(z +1)? (6 — 4)? (5x — 5)? (62 +1)2 (x —6)2
(3z + 5)? (62 —1)? (4x 4+ 6)(4z —6) | (6 +2)(6z —2) | (4o —4)
(dz+2)(4z—2) | Qz+1)(2z-1) | Qz+2)2z-2) | 2z +4)? (5z —1)?
(27 + 6)? (z — 4)? (22 — 3)? (2z +2)? (z+1)>
(4 — 1)2 (52 — 6)2 (4z +3)(4x —3) | (bx+1)? (2z +4)(2z — 4)
(x+1)(z —1) (z+4)(x — 4) (3z + 6)? (z +6)* (22 — 4)?
(37 — 6)2 (z + 6)(z — 6) 6z +2)(6z—2) | (z+3)(x—3) (52 + 3)(5z — 3)
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(4z +3)(4x —3) | (4o —6)? Bz +3)3z—-3) | (z+1)(z—1) (6 — 3)?

(4z + 5)2 (4o — 5)2 (3z +2)? (x —5)2 (3z +4)(3z — 4)
Bz +1)Bx—1) | (6x+2)(6x—2) | (5x+4)? (3x + 4)? (6 — 5)2

(4x + 2)? (4z + 3)? (2z + 1)? (22 +5)2 (5z — 3)?

(22 +6)(2z —6) | (3z—2)? (6x +4)(6x —4) | Bz +3)(5z—3) | (22 —4)?
(x+5)(x —5) (x—1)2 (x —6)2 (62 + 2)? (22 4 2)?

(x4 6)(z — 6) (22 +6)2x—6) | 2x+2)2z—-2) | (z+3)(z—3) (22 + 5)?
(2z+1)(2z—1) | (6z+3)? (52 +3)(5z —3) | (3z+4)? (4x + 2)?

(2z — 3)? (z + 4)? (z + 3)2 (3z — 3)2 (6 — 6)2

(6x 4+ 4)(6x —4) | Br+4)3x—4) | (3x+2)? (4 — 4)? (3z +6)?

(5z —1)2 (62 + 4)2 (22 —1)2 (2z+2)(2z—2) | (62 —1)2

(4z + 3)2 (3x + 2)? 6z +2)(6z —2) | (z+5)(z—5) (z + 3)?

(4z +2)(4z —2) | 3z —1)? (4z +3)(4x — 3) | (3z +4)? (v — 3)2

(4x + 6)? (x+1)(x—1) (2z + 5)? (5x + 1)? (62 + 1) (62 — 1)
(z + 6)? (z — 4)? (4o — 2)? (2z +2)? (32 +2)(3z — 2)
(3z + 2)? (6z +2)(6x —2) | (6x—1)2 (x —4)2 (5z + 3)?

(4o —5)2 (62 +3)(62 —3) | (22 +6)2 (z +4)? (5x + 5)?

(62 —4)2 (5z + 6)> (52 +5)(5z —5) | (3z —1)? (2z +6)(22 — 6)
3z +6)(3x —6) | (3z+6)? (5z +6)(5z —6) | (2z —2)? (3z — 2)?

6z +1)(6z —1) | bz +4)(5x—4) | (x+2)? (2z + 1)2 (3z — 6)?
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(4z —5)? (z +5)? (5z — 6)2 (52 +5)(5bx —5) | (z+4)?

Bz +4)(3x —4) | (5x+2)? (22 —1)? (6 +2)(6x —2) | (42 4 6)?

(4x + 2)? (52 +6)(5z —6) | (3z+2)? (3x + 5)? (3z +5)(3z — 5)
(2 +4)2 (z —6)? (6x + 3)? bz +1)(bz—1) | (v —4)?

(4z +5)2 (2z+3)(2z-3) | (5bz+1)? (Bz+2)(3z—2) | (6z+1)?

(52 4 5)(5x —5) | (x+3)(z —3) (5 + 4)? (r —1)2 (4z + 3)?

(6z +2)(6z —2) | (6z —5)? (4o +1)(4x —1) | (2z +5)? (3z — 6)2

(22 — 4)? (3z — 5)2 (x4 1)2 (6 +5)2 (z +3)?

(52 +6)(5z —6) | (5x —2)? 6z +6)(6z —6) | (z+1)(z—1) (v —6)2

(5x — 5)? (x4 6)(z — 6) (6z +5)(6x —5) | (5 +2)? (2x — 2)?

(4z — 2)? (x—1)2 (x+4)(z — 4) 2z +1)(2z-1) | (z—2)?

(22 — 3)2 (4 +2)(4z —2) | 3z +2)? (x —5)? (3z —1)?

(5z + 6)? (3z + 3)? (62 —5)2 (22 — 5)2 (6x + 6)2

(2z + 5)? (62 + 4)2 (dr+3)4x—3) | Qz+2)(2z—2) | (6z +4)(6z —4)
(6x + 2)? (62 + 5)2 (3z 4+ 1)? (z +6)(x — 6) (5x + 1)?

(x4 6)(x — 6) 6z +4)(6z —4) | 4z +6)(dx—6) | Bz +3)(3zx—3) | (2v+1)?

(3z — 2)? (6x + 6)* (6 —6)2 (62 — 3)2 (62 + 5)?

(6 + 4)2 (6z — 1)2 (x +3)(z — 3) (6z +2)(6x —2) | (62 +1)(6z —1)
(4z +5)2 (3 + 1)? (3z —5)2 2z +1)2z—1) | (z+5)2

(z +4)? (5x + 2)? (3z — 4)? (2z+3)(2z —3) | (4z —1)?
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(3z — 4)? (62 — 6)2 5z +3)(5z —3) | 3z +1)? (22 —2)?

(5z +2)? (x + 3)(z — 3) (6 +4)? (6 +4)(6x —4) | (22 +2)(2x —2)
(r—2)2 (5z +1)2 (5 — 1)? (22 + 1)? (6x + 5)2

(52 +6)(5x —6) | (22 —5)? (6z —1)2 (x —5)? (3z + 2)?
(x+1)(z—1) (4x + 1)? 6z +3)(6z —3) | (z+4)(z—4) (6x + 3)?

(5z — 3)2 (4z +2)(4z —2) | (32 +6)? (z+1)* (22 + 3)(2z — 3)
(x — 4)2 (4z + 3)(4x — 3) | (v —2)? (5z + 3)2 (42 — 6)2

Bz +1)(3z —1) (6x + 2)(6x — 2) (2x +5)(2z — 5) (x +4)(z—4) (6 + 5)(62 — 5)
(62 —2)2 (2z +1)? (4 +4)(4x — 4) | (6z +6)? (4z + 1)?

2z +6)(2z —6) | (22 —4)? (5 — 5)? (4z + 6)2 (2 — 3)?

(4z +2)2 (32 — 4)? (4 — 3)? (5x + 4)? (3z + 2)?

(2x + 4)? (z +4)? (x+1)(z —1) (x —1)2 (5x + 1)?

(6x + 6)? (52 +3)(5z —3) | (5x —6)? (3z + 5)2 (5 — 1)?
(Brx+2)3x —2) | (5x+2)? (22 — 6)? 2z +4)(2x —4) | (224 5)?

(4 —1)2 (x —6)2 (4x + 5)? (62 + 1)? (3z + 3)?

(4z + 4)? (6z +3)(6x —3) | (z+3)2 (3z — 5)2 (x —3)2

(6x + 4)? (32 +6)(3z —6) | (6z+5)2 (62 + 6)2 (2z + 3)(2z — 3)
(3z +4)? (52 — 6)2 (4z +1)(4x — 1) | (62 —6)? (6x 4 1)?

(r —5)? (x —6)2 (2z + 6)? (62 — 5)2 (x —2)?

(62 +6)(6z —6) | (5x +2)(5x—2) | 3z +1)? (42 — 5)2 (z +5)>
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(2z — 3)? (62 + 5)2 (3z —2)? (62 — 3)2 (5x + 6)?
(6x+1)(6x—1) | 2v+4)2x—4) | (22 —6)? (4z +5)(4x —5) | (3z+ 3)?

(62 4 6)(6z —6) | (42 — 4) (6 +4)(6z —4) | (4o +6)(dx —6) | (52 +2)?

(z +5)? (4z + 6)2 (z +6)2 (52 +5)2 (6 +6)2

(42 — 6)? (62 — 1)2 (62 — 6)? (x —4)2 (5 — 1)?

bz +4)5x—4) | Bx+1)Bx—1) | (22— 3)? (62 + 1)? (4 — 2)?
(x+5)(z —5) (4 — 6)2 (62 — 5)2 (62 — 3)2 (3z + 6)?

(5z —5)2 (32 —1)2 (22 — 6)2 6z +2)(6z—2) | 2z +1)(2z—-1)
(4z +1)2 (5x — 2)? (v —2)? (27 + 4)? (z +6)2

(z +1)? 2z +2)(2x —2) | (62 —2)? (2x —5)? (22 +1)?

(z +6)(z — 6) (62 +5)(62 —5) | (4 +4)? (22 +6)(2z —6) | (5z —3)?

(4x + 2)? (4z +2)(4z —2) | (4 +3)? (3x + 3)? (5z —1)?

Bz +4)(3z —4) | 5z +5)? (4o — 3)2 (z — 3)2 (42 + 6) (4 — 6)
(3z —5)2 (6 — 2)? (br+2)5x—2) | Qx+4)2x—4) | (6z+3)?

6z +3)(6z —3) | (22 —4)? (z +4)? (3z +1)? (4z + 1)(4z — 1)
(4 +4)(4x — 4) | (62 +2)? (x+1)(z —1) (5z +1)? (22 +6)(2z — 6)
(2z +1)? (z +5)(x —5) (3z — 4)? bz +1)(5z—1) | (5z —1)?

(e +1)(4x —1) | (62 +6)2 6z +2)(6x—2) | Bx+3)3x—3) | (5z+3)(5z —3)
(6x + 1)? (5z — 3)? (22 +5)2 (62 —1)2 (62 —5)2

6z +4)(6x —4) | Qe +4)2x—4) | (52 —2)? (22 +5)(2z —5) | (4 +5)(4x — 5)
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(5 — 4)2 (z +4)? 2z +5)(2z —5) | (3z —6)? (3z — 4)?
(3z +1)2 (2 — 4)? Bz +2)(3z —2) | (64 3)? (62 + 2)(62 — 2)
(22 — 2)? (2z + 3)? (22 +2)(2z—2) | (z+6)? (3z —1)?
(32 — 3)2 (62 +1)2 (62 — 6)> (5z +4)(5z —4) | (42 + 3)(4x — 3)
(2 +4)(z — 4) (z + 6)(z — 6) (z+5)(z — 5) (62 +6)(6z —6) | (32 —5)2
(z +3)2 (5x + 3)2 (x —5)2 (22 — 4)2 (5z —1)2
(4z +5)(4x —5) | (3z —1)? (4z +3)(4z —3) | (3z —6)? (6z —1)?
(x —2)? 6z +6)(6x—6) | 5x+5)bx—5) | Bz+1)Bz—-1) | (5z —2)?
(6z +2)(6x —2) | (4o +1)? (v +4)? (22 — 5)2 (4x 4 2)?
Bz +2)3z—2) | (62 +6)? (z+2)(z — 2) (z +6)2 (61 — 3)2
(22 — 6)2 bz +1)(5z—1) | (z+6)? (32 +6)(3z—6) | (3z—6)?
(62 +3)(6z —3) | (5z —3)? (5z + 3)? (z + 4)? (x —2)2
(22 +6)(2z —6) | (5z +2)? 2z +2)2z—-2) | (z+1)(z—-1) (5z — 6)2
(z +4)(z — 4) (3z + 3)? (62 + 3)2 (x — 3)2 (22 +1)?
(22 —1)2 (32 — 2)? (52 +3)(5z —3) | (6z —1)? (5z + 4)(5x — 4)
(5 — 6)2 (62 + 6)2 (z +5)> (22 +5)(2z —5) | (6z +3)(6z —3)
(z — 4)2 (4z +6)(4x — 6) | (4o —4)? Bz +3)3xz—3) | (z—5)?
(5x + 1)? (x +5)(z —5) (5 — 2)? (3z +1)? (z+1)2
(22 + 3)? (5z — 1)2 (x+2)2 (3z — 3)2 2z +1)(2z — 1)
(3x — 1)2 (6x+4)(6x—4) | Gz+3)(52—3) | Bz +1)(Bz—1) | (6 —4)?




